Name: k-ﬁ;{/ Algebra I — Semester Test ~ 12/15/2016

1) Solve the following inequalities for the given variable and graph all your answers. Be sureto
3 show all your work!! Leave your answers in the 51mplest fraction form.

a) —3x—4<20 )__8>25 . .é -
X2 —% X > 165 x

I 2 Sk 43 e
IRRYE- Y - 55X > 23 tLs

2) Write an absolute value inequality for each of the foi—owmg graphs.

b 2= | >

. 3) Solve the following equations for the given variable. Be sure to show all your work!
@ a)x+9F2 | by7x = 21
- ‘I’ — 4 Z 7
- 4) Write the following in words. _
L/ a) 5x—3 5 +Feime s X s 3 b) 2% (x s 7) :)x 'i[('frlej Fhe a,[;L’L&F?A(
o ¥ @ e ,

+ J) Graph the following inequalities.
@ a)4>x Xx<q b)x <10 &3> c)x>3 @@4@ ) =4 <X petir
to X z-Y —Y

6) Solve the following equations for the specified variable. Be sure to show all your work!!!!
Leave your answers in the simplest fraction form.

g,,‘ 1 a) Solve for ! b) Solve for T 2L
E:_J;k_:=¥ P = 2w+ 2 PV=§§T 7= o2
L At 20 EY RN
é 7) Solve the following inequality and graph your solutions: X 2 4 D
a)x 240R3x+19<x—~7  AXEL-A|byx—6<2x~10ANDX <6 i
G~ X —id Y9 xEu3 X 4w =X 4o 4 4
o3 ~ 8) Solve the following inequalities for the given variable and graph your answers if you can. Be
G) sure to show all your work!!! X e X722
Cprrip—38) 5 < 4x =7 < 9 4 ax it Ix+1<-10Rx—1>1 &#&¢>
1 i 47 35 XEY ~t - A
9) Seolve the following equations for the given variable. Be sure to show all your work!!! Leave
@ your answers in the simplest fraction form. fax +1g = [AX+1Y
" a)3x +5=5—2x Sx~o b)2(6x +9) =6(2x +3) ~iax X

10) Solve the following equations for the given variable. Be sure to show all your work!!!! Leave

\ your.answers in the snmplest fractlon form.
.~ L BT RS
‘? 9 4 g
S ax @ @

11) What is the order of operations?

o) \ Hows . .
O ﬂfft/lf °es, E—K/ﬂff&‘vh/ wa-/-.;é,;} y a{;ﬁ/,'y/c; Qo&g! SFZMLL,



12) a) Which side should the variable always be on to properly graph an inequality? { Cﬁ *.
@ b) When you multiply or divide by a NEG < e, you have to _Sunrfefy. _ the inequality

sign.

13) Solve the following equations for the given variable. Be sure to show all your work!! Leave

@lour answers in the simplest fraction form. _
8)3x -2 = 10 — foix=15 .5 -
dret WG ponf f

=12
14) Trans(ate the following words into EXPRESSIONS!
@ a) y minus the quotient of 4 and b. ,, _ ¢ z4, b) 2 times the sum of xand 9
Ve 2:{x+9)
15) Solve the following absolute value equation. PTE ]
@ 2lx—11+3=5 Ry -

= XTo
16) Colten is standing next to a telephone pole. Colten stands 5.5 tali and casts a shadow 4.2°
@ long. If the telephone pole is casting a 15 shadow, how tall is the pole?
oS S

— —

17) Write the following in words. Do NOT solve it. 45 °
@ a) 2x — 5> —10 b, Hhan )7 +x<8 ‘ >
2 Hiwes X mings ST is g —lo Z Kfuj X5 less X=19.¢
4

OIS) Solve the following inequality: 2 o eguad o S
6

a) 13x — 2] + 33 < 20 b)lx—1] =5 > ~2
~3%3 33 | s is [x-1i 27
19) ’3)“’)‘{ - cetot brase —— X732 —X #! g}

a) What is the difference between a discrete and a continuous graph?4ey,.. X >4
t/) b) Continuous o @: uy apples from Hugo’s. o X e

r d 1sire g+ Gaining weight over Thanksgiving. %

d) Cortinuaus ot nGiving gifts at Christmas. ~2 y

£>:20) The perimeter of a square is P = 32in. What is the side length-of the square?
2 Dx=32
21) Draw a graph to represent Dylan’s distance from heme in the following story. Dylan woke
- up at 3am, left his house, walked to his hunting-stand, waited \]ﬁJhours for a deer, got frustrated,
@ shot a cow, and carried the cow home. It was only a calf. X

™
[

22) Solve for x ~ Fooe
@ vl “¥ y = 3x +,1
3 ~1i -
23) Write a compound inequality shown by each graph.
@ a) b) o
'r +—|*1 1
5 —SEX <l 6 -10 15
X&lo e X 2is

24) {(~5,—3),(—3,-5),(2,—-3),(—5,0),(0,0)}

3 a) Give the domain and range of the following relation: é«—g‘/ ..3} o, 3 j’
b) Make a mapping diagram for the relation above. ‘ '
s~ ~307




K"ﬁ/ 'Afycl;'ﬁ! I
ANSWERS ONLY'!
1) X2-% &—duwm | 13A) X=9
18} Y 7S s 13B) X=Yo
2A) fx-ol 73 1482) y-9+p
28) | x-=3] =294 148} Q2 -(x#)
34&) X==7 15) X=2,0
3B) X=? 16) X = 4, 6EL
48) S times X miias 3 174} Sere Lief
4B) )\ dimes He diff of x5z | 17B) X
&) (> |BB) e+ |18A) ye Sela
5C) =@ |5D) e |188) o fenin
68)  p-(pdy 198)  lahos |19B) U
6B) T = P K 19C) (i, 19D) z%é(scm e
TA) sl 20) X =8
78) € prrsaop—> 21} [ hoplosn)
§A)  cdap> 29)  Xxsloy
88) 7 cmeae» |23R) 52 k<
9A) X=0 - 98B) X0 o x 25
9B} All KBeals, 244)
104) =B D: £-5 3227
108) x =Y20 Ri<5-303
11) fﬁi/m%a}dﬁ, 6)€Wﬂ€a47"5, ma/-hiafy ot 248)
124} |efh =
12B) Nega hice, Sonteh - l;; ﬁg

2) w1

time







Name: k@/
Algebral — Test 4

r r i -
21172017 o }/72-—“17‘-:'/26/}\
1) There are two important points with a line. Their general forms are: (0, y) and (x, 0). What is
the name of each of these points? Be specific. Lo s
@ A “’f"ﬁfc‘a‘*f%
2) Determine the function that represents the following tables.
Table 10 : Table 15
@ X f(x) £(x) =y X f(x) L= EL x -3
%_ (f’ 4 8 ) 'f'-}\ 4 (r 2 -2 _)1‘“[ .
& 10 Y,y 2, 24 e NI
6 2 v f 6 0o 4™
7 14 3 ]
8 16 10 2
3) Fill in the blanks for the definitions of slope:
pise_changein Y /o —¥
@ slope =
run  changein X = X, — xr

(&

4) Given the following pairs points, calculate the slope of the line that passes through them.
Leave your answer in fraction form.

a) (2,—5) & (—8,9) y >~ ¢) (—8,0) & (7,16) _éﬁé {
. —5™ = — o Tt L———J S
K %3’— 16 135, 5
b) (3,4) & (O, 15) d) (0,10) & (=16,21) / Tt
N _; (¢

5) Given the following lines, figure out
what the slope of the lines are.

? _? X \\
b) C?? \




6) Use the First Differences to classify each table as linear or nonlinear.

2) N\ Pt e
X 0 1Y o v Vo3
Y 0 L} ~y 1 LY b | 4 | I 9
T w7 g
H + 3 +5 Non lirea,
b) pah A H A~
X 3 7Y 4 TV 5 78 6
Y 8 § b | 9 LY fa] ]0 ¥ = 1 1
(e — ‘- [/
‘ o T .+t £1 11
7} Find the slope of the line given the following equation.
a)9x -+ 3y =18 X S " X ; G
ofcy CeREC 1 o< Stpe =33
b) 5y = 15x — 30 Cxfo o fo o6
8) Graph the following lines on
the given graphs. o <]
} 5x — 2y = 20 a ok
a -2y = ~
X y %0 f 10 A \(j 7 I/ N
b)3x+2y=6 "y W LA ] k
Eali / 3\
-] L\ D il # \
d 1\
o7 .«! \\\
o / ‘
A
/
i

9) What type of correlation would you expect fdéle following situations? (Positive, negative, or
no correlation)

a) The number of people vs. time o7 Hive
b) The number of cats born vs. ant colonies on a farm #e @7 volaticn,

¢) The distance you travel vs. the pressure applied to your brakes ﬂg/a oy

10) If you calculate the slope between two points and get zero on top, what do you say the slope

15?7 ] o2

H

11) If you calculate the slope between two points and get zero on bottom, what do you say the
slope is?




Name: Kﬁg/ 2/28/2017 Algebra] —Test 5
[4

1) Given the following equations, identify the slope and y-intercept.

- a)y=x-5 byy=28 )y =:x+63
Q’ m= | m= m= l/;
= -¢ b=¢ b=¢, 3
2) Fill in the blanks for the definitions of slope:
) riss changein _ Hien
3 slope = — = N
Q #un changein Y xz -X;

3) There are three different ways of writing the equation of a line. What are they called and what
do they look like?

~ a) 5*fﬁ.~yﬁf/’2{ -Q/wﬂ 4 X f'gy = (:
@ b) Sbge - biter )= M )
¢) ik ~Slope y=mi- %)y,

4) Write the following in SLOPE-Intercept form. Identify what the slope and y-intercept are.

~ a)15x+5y F 10 b) —18x + 6y F 12
@ -ty ~13y 1igy Hgr zy = 3xt ?

3 w.re 3 e 7 S raaad
_E}é _z____f___g boa, Gyt o 1A oy
5) Given the fol]owmg information, write the equation of the line. Use any form you want.
. a) ) slope = —4, y-inter: (0,7} b} (—5,0),(0,10) O-6 e 3
., _ oo T 5 T
(4 yowts T
Y =2(x-5) +o

y= ax o

6) Given the following points, find the equation of the iine that passes through each pair of
points. ¥ewmay-leaveyour answerineny-form-ofatinethat you-kker [i.e, @ople-1ntf:rce]:»t;v point-

slope, or standard]

L DO2D&G12) 22 (6 D) B.0&(0,~4) = AL =4
C/ 5 T8 63 = 3 T3

y=2(x-5) r 1. =2,

T—:_);f/;] y= %(2(—3) *6
bl




+ FOC
PR U1t $10%DY

7) Lab results: An experiment was done to measure the time it takes for an engine to cool down.
They measured the temperature of the radiator fluid (°F) and time (sec). The best fit line is
given below. The x- and y-axis start at zero and count by tens. :

@)) Label the axes.

~ +b) Just like in your

pd

F e
[
T

experiment, circle two B

“nice” points and find the

equation of the line. .

3
@ ¢) After 40secs, what X .

temperature is the engine?

4]

( !
@ d) How long until the

engine is 90°F?

r.
A
1Ll
N
N

B 1o-%0 i iz > Wﬂ/ﬁu
<sp-240 ~ -
o~ 79
= =, 79(X~50) +140
= =, 79X + 9.5 +ifo

b) b’: ~ x4 204.5]

) y=-71le)+2205= (97,9 F

o!) 902 71X +229,8




Name: 3/31/2017 Algebral - Test 6

1) Check if the given point is the solution. Show your work!

a) (-3,1);y<5x+7 1%5‘(—;) +7 X O

- 25
@ b) (0, 2)[2x+y—1 cr2=0 X O

6x+11 s & ixttt V7

—4y>0  (-ys) e x (22

o) (2,5) [y

2) Solve the following by GRAPHING them. Use graph paper!!

{y——x+4
=x-2

@ b) y>4x

y<2

¢) 2x+5y>10

-
Y7 TeR 2
3) Solve the following systems by SUBSTITUTION

) {yzéx—lD XX =~ (g?‘
‘ —-x + = —4 X —it=—¢
N\ Fe U
C TEd
dx+y=0
b { .
x+y=-3 ) CZ’X"'X"-B:CS
z Lk = —X-3
4) Solving the following systems by ELIMINATION. X =i [.f y /
3x—y=7 =G 4
2 {2x+y*3 5 Y=l

CI
2x+y—3,
bi& —2y=- )(:(
2XFS = o
e (G0

Sy—ﬁ

}/;f



5) The following four systems are some of the special cases. State the number of solutions for

h system. | '
e er; =x+3 —x+xt323 V" (al Reals, @ iy
a) [_x + y = 3 |
b {y - 5x SYy-7-7=8x - =l X @

—5X
y+4x =9 _ '
O fitrs W HE o e @
x=4

d)_{ x—-y=4 | _
x4y = if e Soly
6) For the followmg stories, ONLY setup a system of equations that could be used to answer the

uestion.
q e v

a o/
A. Derek bought 5 pens and 2 pencils for $5. George bought 2 pens and 5 pencils for $4.

% How much does it cost to buy a pen and a pencil? Sx+2y=
Ax + 5y~
B. Treazur wants to top Alyssa’s party. She invites 20 friends. Each friend can either have a
bottle of Mountain Dew or a bottle of Sprite. She spent $46 on pop. Each Sprite costs $2
and each Mountain Dew costs $3. How many of each kind of pop did she buy? EX—# Y=20
& x=Mnp = = Sprite. | SX4ay=
C. Balley and Chrl\i};e goirig to try their experiment again. This time they will blow up 2
bottles. After surfounding them with firecrackers, they take off running in different
directions. If together they run for 12 seconds and Bailey uses a jetpack to go 4 times as
long as Chris, how long does each go? * Y= I
X=H
D. Bailey and Chris do not make it away safely this time. In fact, all of Treazur’s friends
(including Treazur) got sprayed with pop or plastic. If 6 times more people get splashed
with pop than with plastic, how many people were hit with pop? i Xty = bY;
7 1

¥ v X’-‘G/v
_(97("‘)5'}/:..9\0 . BX 1(.).‘)/: Yé agz_yf_q)
y..-
= )

X=.6




Name: kiy 4/28/2017 Algebral— Test 7

B /
a) When dealing with radicals, we do not want a rady./ in the denominator and a c'/f: plrriing Fe
in the radical.

b) When dividing with the same k‘z 5¢ , you keep the base and _ S frtraci- the
e)(dwff.q‘h .

¢) In the radical V¥ ,4isthe i'}w!e X . Wesayitisa §{  for [ deal.

d) When writing a number in scientific notation, there should be [ digit/s before the
decimal.

2) Simplify the following expressions. Leave your answers in exponent form with positive
€xponents.

5¢%y° 3 5% 74y 11 _L) A
Lo Ty () (7 75
€) 2339y 3255y 10 dy (@3x°y3 * x2)S

| q o

1 ¢ 0
¢ % 1xtey s

3} Simplify the following expressions. Write your answers in scientific notation.

6+10~11 Y x m-fé b) 2.5 *10% x 7.4 « 1077
q) ————— %
«105 -
3010 xS 1.5 x o 7
g5y

4) Classify the following polynomials by their degree and number of terms.

a)7+x2  guaduhic ) x + 6*
bd'{lﬁ"m;'ﬂf Ifhfﬂ‘f bvi’u’ﬂ‘naj
b) x3 + 3x — 4x? d) 24
Cabre Lonstang &

¥ 2
+; f:‘n:fm,‘q I ”10/!(:;/*1:4( :



5) Rationalize/simplify the following radicals.

V7 53 gl Jx o ELX
q/\7 ?V}'K'a\’ X
oy

|
A d |3
r ¥ '3
D

6) Put the following polynomials in standard form and identify the leading coefficient.
2) 9x7 + 3x* — 8x° ~gxt+aAx7 +3x1 Ly -5

b) 6x2 — x> +85—3x* +2x0 03yl _xPrext +85  Liin
7) Multiply the following expressions.

3(y2 — 2 ..
a) x°(x* — 2x) X,; 2xY b) x(3x° — 4x) 5’>{3-‘Q—-:‘~

¢) (x + 1)(x — 3) dEx-DE*+3x—4) o

S X 3% -y
XX Fx X1 | 3x [~

8) Write the following numbers in scientific notation.
2) 46.2 z b) 1700 —t | -x -3x [ +9
462 x lo /3
L7 xlo fX'3*9~Xl-—7X+’//
¢) 0.00064 d) 9‘510000,
C.yxio! 4.5 x 1,6
9} What does F.O. l L stand for?
) lasts.
) ANess
o lite s

Figsts



Name: kéy’
1/13/2017 ¢
Algebra 1 Quiz 131

b . . . p X

a) How do you say: f(x) in function notation?

b) In the function notation of f(x), what is the independent and what is the dependent variable?

c)If f(x) = x + 3, what is f(2) and f(—1)? X £

d) For any relation, there is a domain and range. The domain is all the 3_ -values and the range is all

the -values
T TLMES L) =

2) Determine the functlon that represents the following tables.

Fable 10 Table 15
X f(x) ARV X f(x) ‘ ,
4 9 £60)=x3s 3 2 %) Sy
5 10 6 3 )
6 11 9 4
7 12 12 5
8 13 15 6

3) Give the domain and range of the following relation:

(5-9.3-9.2-950.00) D f5s0g 5
R:f-s -3 ()j

4) Identify the independent and dependent variables in the following scenarios.
a) As the ‘wind increases, the fires spread faster.
e e e e \I—p——-‘ e v

b) Once the rains come, the plants grow.

e ———

¢) Students’ grades go up as they do their homework.

i rt——

d) The more miles I drive, the more I have to change my oil.

9
5) What does IRS stand for? nteal e e e Stee
6) Match the following forms with their definitions ‘
C W-=2 A. form used by employees to inform employers of exemptions
A W4 . form used to report income to the state

B
%é 1040 C. form used by employers to report income paid to an employee
5 ND-1 D. form used to report income to the IRS



Key

Name:

1202017 /
Algebral Quiz 1415
1)

a) How do you say: f(x) in function notation? o o X

b} In the function notation of f(x), what is the independent and what is the dependent variable?

) If f(x) = x — 5, what is f{0) and f(—2)? -PL)=-5, F(X)=-7

d) For any relation, there is a domain and range. The domain is all the _ X _-values and the range is all

the }[ -values.

2) Use the First Differences to classify each table as linear or nonlinear.

a) /! SN Py Nt ling, -
X 0 ] T Y 2 EE
Y 5 1T % 8 |. 12
\_-{ 7 ~7
F1 12 +§
b) A~ I £ Voo,
% 3 TY 4 AT I 6 i
Y 4 ., a2 I 5
R |
S 54 5

‘r
3) I keep preaching about two main uses of algebra in the real world. What are those two uses?

a) ‘-I"a(u%?
b) /y]lﬁé’féh&—:/{

thing s

a )Mr*f-

4) What type of correlation would you expect for the following situations? (Positive, negative, or no

correlation)

a) Number of shark attacks vs the number of ice cream sales

b) The temperature inside a building vs. the temperature outside a building ,aas."-h*’ug,

Wd ne Cﬁ’.!"/‘éfdaf:}rg

¢) The grade in a class vs. homework assignments not turned in 2 ehivs

them on the back.
y=—4x+7

6) Match the following forms with their definitions
i y=mx+b

C y=mlx-x)+n
A Ax+Bx=C

A. Standard form
B. Slope-intercept form
C. Point-slope form



Name: Ké/ ‘

1272017 °

Algebra I Quiz 16 I-—-; Yerattigp
1) There are two important points with a line. Their general forms are: (0,y) and (x, 0). What is the
name of each of these points? Be specific. y

P P L? A~ J}? %fff;o;i

2} Find the slope of the line given the following equation.

v
4x — 5y = 20 -
0 500

3) 1 keep preaching about two main uses of algebra in the real world. What are those two uses?
e .
D Tally  Ahigs @ gt 4 putty, et

4} Fill in the blanks for the definitions of slope:

rise  changein__ Y }/l —~¥1

slope = —
4y changein X X; =X,

5) Given the following pairs of points, calculate the slope. Leave your answer in fraction form.

a) (2,3) & (4,-5) ~5~—3 _ -F
N 7
b) (—=1,0) & (3,10) (00 / /

3.‘ i

o .Ag
y

1#

‘L"‘—

6) Given the following ]mes hgure out

what the slope of the lines are.

a) 7/3 y

‘W(ﬂef/,@ﬂ /’

‘h\‘_




Name: L%-/
2/9/2017
Algebral Quiz 17

1) Given the following equations, identify the slope and y-intercept.
)y =x~—5 : b)y =2x+63 )y =.25x+2
Slope =1 Slee = 15, Stepe =, 2.8
ylatert =57 ybber 6.3 Yot = 2
2) Given the following information, write the equation of the line. Use any form you want.
a) slope = —4, y-inter: (0,7) b) (=5,0),(0,10) s 180 _ Eg.‘i’ -

b5

}/:W?X"f"? }f‘:;""*b D) b - Y=
3) Write the following in SLOPE-Intercept form. Identify what the slope and y-intercept are.
aylZ2x+y=4 b)—24x +y =12
QX Ay =i #odx A4 ¥ Y
gl FY y‘“l‘rﬁ—zf.' if o =24y FIA }-’—-:’lftf“ i)\
4) Fill in the blanks for the definitions of slope: Y
rise changein Y _ B

1 D e =
S0P change in _ X X; — X,

5) Given the following pairs points, calculate the slope of the line that passes through them. Leave your

answer in fraction form. _ .~ . — =7
a) (0,—6) & (~5,-5) STk :%«:7 b) (—8,6) & (~5,-7) 7 ‘é. ={ '—3‘ ;
~C— ~5 2

6) Given the following lines, figure out

what the slope of the lines are. A
a) ‘7/3 #
b) "':2:; - _, J N
by : | !/ N
/!
/

“‘h"h..




Name: ke;/ 211712017 Algebra I Quiz 18

1) Given the following equations, identify the slope and y-intercept.

Ay=7x+95 m=zq b)y:§x+4.1 mE ¥ c)y=125x—-5 m=/l2s
b=15 b= b5
2) Given the following information, write the equation of the line. Use any form you want.
a) slope = —4, y-inter: (0, 8) b)slope=—-2 (2,1)
y:"l(.\’ - )/: ~2(K’)*) +
3) Write the following in SLOPE-Intercept form. dentify what the slope and y-intercept are;
a) 12x 4 2y = 4 Yy =2 QI b) ~9x — 3y = 12
X - 3? + 9y Sy
il TR m=
4) Fill in theéBlanks for the definitions of slope: o -3 b=
rise changein [ i -y
slope = — = ——=

run changein_x T ox, =X

5) Find the equation of the line that passes through the following points.

) (0,~6)&(=5-5) _ _-s-¢ 1 b) (=8,6) & (=5,—7) L= .-
e - 58 g
--1 : - S Y T
)f,_ g(Kr“S‘) - :-é_x ___é' = (X : 3) +o

__rg _;G‘f =B _gt
= _;( +6& T;X ...-:-;-

6} Graph the lines from #3. -5 =

e
-

7) Match the following forms with their definitions
y=mx+b A. Standard form
C oy=mlx-x)+» B. Slope-intercept form
A, Ax+Bx=C C. Point-slope form




Name: R‘{y 3/10/2017 Algebra I Quiz 20

1) Check if the given point is the solution of the system. Show your work! _
5. y=x—2  ~=n=0-2V b (3 l'x—2y=5 3HA=S

o Sedn. )’é S % i
2) Solving the following systems by ELIMINATION. ’-ﬁ '
2 prm =1 Y2y = x=~t [(, )
Ix—y= -—2)-3 ~x 43y =4 Y=
X =5

3) Solve the following systems by SUBSTITUTION.

y=-3x+4 N X ==bx ,
3) {x=2y+6 X:Q(‘?’“v He igi,_\:____fix___._____x' . (%,-i)/
¥y < ~bx +§ L 7)(:(?" )/:-:72

4) George bought 4 DVD's and 2 candy bars for $26. Amanda bought 2 DVD’s and 4 candy bars for
$34. How much does it cost to buy a DVD and a candy bar?

rlglxu)/:;;;) v EX Y= -5 X=3

Ax iy =39 Axtyeaw =7
IV ) —&x = -I‘S/
5) Solve the following systems by GRAPHING them. Use the graph!!

S A

”g?’ f:&/ Zaxfzév l')cff"

Bonus: What was the name of the team that won the ranch rodec last

night? Hot  Shots
Bonus: What was the name of Jamie, Chris, and Derek’s team? ﬁ%’ﬁ'
; 9;:1{“;5 am/ a feHcZ,. AT
/1
/f




Name: {C\?JV 3/16/2017 Algebra I Quiz 21
A

1) The sum of the digits of a two-digit number is 7. The product of the digits is 6. What is the number?

X= ,5;-} Xty=7 X=A e -
y =2 XY=t y=C &/
2) Solving the following systems by ELIMINATION.
(4x —3y = —1 Y3y =i ~Sx =5 -2 ===
a X2y 'V
) 3x-y= —2)—3 Uy By = X =/ #3 F3
3) Solve the following systems by SUBSTITUTION. (_,{} -_y y=
(2x — 3y = —6 . ‘
D Uevzy=15  2AByrsyzys
=3y -3 ~Ly+30- 3y =31 X =
4 i’ 7 o /\/‘::-? A

3G -
X3yt 5" ‘_h____c"“fy':--?é : ((3,“/)/

4) Alyssa bought 5 DVD’s and 7 candy bars for $99. Bailey bought 7 DVD’s and 5 candy bars for $129.
How much does it cost to buy a DVD and a candy bar?

: x i/ Y=g
X= Py (oo 7y =qq ) -7 Fsﬁ-ﬁ’/y =~( 92
Ve CCZ/"Z/' ' £'¢ r—S\)/ = 192,‘?) A 35 ._f—';zf’y = (s ﬁ a
DYz g =F
5) Solve the following systems of equations. 4 8 ” 2 X=/7
y=—x+5 y—1=2x
a){x+y=5 b) [y:2x—1
R G _
XH# =X F5=S ret 22
- “L=0
Al Reals. X
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1) a) When graphing linear inequalities, you always need to have the inequality in z g:-"li‘hlf form,

- b) When multiplying/dividing by a (""2 , you have to §cw Y the inequality sign.

¢) You have dashed line when there is an (“Or equal to”) § (NOT an 01 equal to (multiple choice).

d) A y = 2 is a vertical’horizontal Jine. {(multiple choice)

2) Check if the given point is the solution of the system. Show your work!

~-2Z° 2 3-2(-) <5
3) Graph the following linear inequalities. L2y H6 5 -2
1 b) 2x -3y <6 Py TSy 2T
) yzzx—1 ) SX - <p > 7
~ i
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4) One of Ms. Leggate’s Tests is worth a hundred points and has 46 questions. The test consists of
True/False questions worth one point each and multiple choice questions worth three points each. How
many multiple-choice questions are on the test? , /\,’7 =¢( T A

i /= q T
)
5) Treazur buys dog food for $10 a bag and dog diapers for $20 a bag. She only has $10€

A) Write an inequality that represents this story.
B) Graph the inequality.

Zo)rw\a)/ & leo
4[0,»( F+loe

2G
Y é'—‘;{-x +S5
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1) Fill in the blanks: _ )
a) Quotient Rule: When dividing with the same )z 5¢° , you keep the base and _$. £ /— the

% .E—aﬂ&ﬂ‘f.
b) Product Rule: When multiplying with the same /4, S , you keep the base and Czdid

the eransafs .
c) “Power to a power, you il 22/, the exponents”
Fi / N

2} Multiply/divide the following expressions. Write your answer with positive exponents.

a) 2x7 = 6x~ 14 > b} 4x°y? % 3x2
— { ] 3
DX~ T 55 [2x

3) Multiply/divide the following expressions. Write your answer with positive exponents.

px~3y~—20 3 ) 14x%y5 —7
2) x—dy? S A S ) 0x—4y°

v

-2="1 =1 7-"% =13
T =y Siq = -y
4) Multiply/divide the following expressions. Write your answer with positive exponents.
a) (x3y7)6 s b) (xsy—a)—s
X o 4 e
X / = -——"‘Z”_

X-}(J

5) Write the following in standard form.

a) (-5)°
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Name: kﬂ,}f

1) Fill in the blanks:

a) With a power to a power, you _mul fiialy _ the exponents. (ex. (x*)®
b) When writing a number in scientific notation, there should be §  digit/s before the decimal.

¢) When dividing with the same e ce , you keep the base and _ Subbrycf the ex/.
d) In the radical YV ,4isthe_ dex . Wesayitisa Y for | deal

2) Simplify the following radicals. :
X 3
X i oy (Vo
A S

12
i 3 g .,

A, %
£ Y
3 0

3) Simplify the following expressions. Write your answers in scientific notation.

a) (9.8 * 108)(3.69 = 10'%) b) 3.14+107%

. 27 4,13%10°
K . -
Se.de x| 7603 x5 =

B.4p1b XU

4) Write the following in scientific notation.

123400 b) 0,0009876
DB a3y ) 0000%

F.876 x5

5) Write the following in standard form:
b) 5,78 * 1073

« 105
2) BMO R
35 Y bory e 00525

6) Simplify the following expressions. Leave your answers in exponent form.
a) (4x3 = x8)* g3\®
RN ()

g X é{ - ’ - ’
Y X'$ z - ﬁ—}(/
(v = (&
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1) Fill in the blanks:
a) There are two things you do not want wnh radicals. You do not want a s g/ _ inthe

dg-fidfﬂlﬂg& You do not want Jﬁﬂam!ﬂd n the ﬁd:axi
b) In the radical xf_, 4 is the !ﬂz@ .Wesayitisa § _ for | deal.

2) Simplify the following radicals. :
a) V56 |b)381x1”y24 3)(3/?3/3&"
P
57 ‘?/}f_\
Ce» NGy

3) Rationalize/simplify the following radicals.
) Ratic plify the following ) T 27
2) 2|1°% . l}")(.q ML
xX X A3 3
23
5730 3

q 4

4) Ratipﬁallzefﬂmpllfy the following radicals. ]
23 .14 b) <= =
) g";’ - \«{E ) 2
SBY

/\
é AE;@
5YClassify the following polynomials by their degree and number of terms.
a) x% + 3x — 2 | b) 82
quedrtc Hoiromial Constont prodemyy |,

6) Put the following polynomials in standard form and identify the leading coefficient.
a) 7x3 + x — 5x°® | by 5x% — x5 + 8—3x% + 2x

~Sk +7x7+X KT gy A A +E

% [C) -8 Lo -
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